XVIO TAO 2013 Theoretical round. Basic criterla. For work of Jury page 2 af 3

a-L

a-3.

p-a.

Gliese 581 g,

Conditions as on the Earth, the same temperaiure — 1 pL

Correct taking the necessary data from the tables — 005 pt.

Finding (any way) that the radiation from Gliese 581 15 aboul 48 Gmes less than that of the Sun — 2.5 pl.
Dependence on B — 1 pL

Comrect using the generalized Kepler's third law, calculations — 2 pL

Final caleulations and correct resuli — 1 pt.

Gliese 581 g,

2.1. Totally 5.3 pd, including:

Conditions as on the Earth, the same temperaiure — 0.5 pL

Correct taking the necessary data from the tables — 005 pt.

Finding (any way) that the radiation from Gliese 581 15 aboul 48 Gmes less than that of the Sun — 1.5 pl.
Dependance on B — 0.5 pl.

Correct using the generalized Kepler's third law, caleulations — 1.5 pL.

Final caleulations and correct resuli — 1 pt.

2.2, Towlly 2.5 pt, including:

Tssue that the order of the size of the planst is comparable 1w the size of Earth — 005 pL

m=px D Ry - 05pl

Correct calenlations, result about 14 pas — 005 pL

Conclusion that the angular size of the ohject has o exceed the angular resolution at least several times,
answer "no” — | pl.

Observations from Glicse 581 g.

3.1, Totally 5 pt, including:

Formulae for magnitude of the Sun (any way solubiony — 3 pl

Correct caleulations — 2 pL.

3.2. Todtally 3 pt, including:

Understandimg that Gliese 581 15 Tocated in the zodiacal constellation of Libra - 1 pt.
Sun will be al opposile point— 1 pl.

Angwer: constellatiom of Ares — 1 pL

Observations from Glicse 581 g.

3.1, Tedally 3.5 pt, including:

Formulae for magnitude of the Sun (any way soluliony — 2 pl_
Correct caleulations — 1.5 pL

3.2. Totally 2 pt, including:

Understanding that Gliese 581 is located in the zodiacal constellation of Libra - 0.5 pi.
Sun will be al opposile point — 1 pt.

Angwer: constellation of Ares — 0.5 pl.

3.3. Totally 2.5 pt, including:

Heai balance, the same amount of energy per unit area — 0.5 pl
Finding spectral class and temperature (using HR diagram) — 005 pl.
sing Stefan-Bolusmann law — 0.5 pl

Final formuola — 0.5 pi.

Final calculations and result — 0.5 pL
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